=LPDB

*UXSD 5R]NiDG -6% / %g / 7\J
o
™
7N 7N
-CI\NRER\ 6%/ - %DGDQID "1$ GUO\JD 1RZDN ODJGDHQD $  /$%
.5<0,1$/,67<., .6%/ % =V
% 7\G] 7\G]
= %DGDQID " 1$ GU O\JID 1RZDN ODJGDIHQD |||%RPHILD UZDUJ\ LRND SURI GFXUHN
= $  /$% .5<0,1$/,67<., .6%/ |||SDGRPW $ 6%/ %G/
N %g = U
7\G]
= DNINIRVNRSLD L HNVSHUN]D GDNINIRVNRSLIQD  PJU ODVRE
3HP\VDZ $  /$% .5<0,1$/.67<.,  .6%/
%g /
- 7\G]
) 9%RPHIUD IZDU]\ L RND SURI 6FXUHN SDGRPL $%
6%/ %3/
7\6] 7N
9%RPHIUD IZDU]\ L RND SURI 6FXUHN SDGRPL $% 2VIXVIZD L QDGXT\FID IHHIQIRUIPDINFIQH  GU KDE
6%/ %G/ SIAVIHVNL = RIFIHFK $% .20387(52:%  .6%
/7 %/
7N
IRQRVNRSID GU KDE +\ID ODIJRUIDID $% .6% ™ )
7 wg/ = DNINIRVNRSLD L HNVSHUN]D GDNINIRVNRSLIQD  PJU ODVIRE
=z 3UHP\VIDZ $  /$% .5<0,1$/,67<., .6%/
= 7N %g /
a %DGDQID *1$ GU O\JD 1RZDN ODJGDIHQD $%
N 6%/ %3/ 7\G]
— _
w 2VIXVWIZD | QDGXT\FLD IHHIQIRUPDINFIQH GU
7\G] KDE &HVIHIWNL = RIFIHFK $%
YRQRVNRSID GU KDE +\(D ODiJRUIDID $% -20387(52:=%  .6%/ %§/
0/ %AH
6%/ %G/ 6]
7\6] = DNINIRVNRSLD L HNVSHUIN]D GDNINIRVNRSUQD
. PJUODVRE UJHP\VIDZ $  /$%
%DGDQID " 1$ GU O\JD 1RZDN ODJIGDIHQD 7
% %/ wgs .5<0,1$/,67<., .6%/ %3/
| |
z 7\G] 7N
= 9%RPHIUD IZDU]\ LRND SURI 6FXUHN SDGRPW $ * DNINIRVNRSLD | HNVSHUIN]D GDNINRVNRSLIQD
Q 6%/ %g/ PJU ODVIRE 3UJHP\ViDZ =DICFID RQ IIQH
n 6%/ %g =
@
©




